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Unless otherwise required in a question, answers should be written either in Sanskrit or in Hindi or in
English.
-1/ Part-1
Frefafed =i = sifsu)
Explain of the following: T¥ex2=15
() TeeaRgionh: | eiegfgemEfaer:
I : S AR |

3TAST/OR
TR <aared faTs
TUshgesfa qen wda TaRREE:I|
(@) VAR TH: FhoTshHr5d o eIl
TR STRISRE= ||
3TAST/OR
TSRO §:@ WA < : Ieu:|
e sfafeerea 3@ @aEll
qed XA & A7ER ‘IEW’ 1 fad=d yRh Fife
Present the analysis of ‘G&8’ according to Samkhya Philosophy . 10
AYdT/OR
frefafed & 9 frel &  feoft fafau .

Write notes on any two of the following:

IEH HIV, Gelgepid, SRR, difte @i, e ud fadegim
qAT-2/ Part-2
frafafad g sifafa @ th-tw 9 &t e #ifve, (9d 9 uew @ ehd § @

Explain one Mantra from each unit of the following, out of which one should be written in Sanskrit. 6x2=12
sfafd-1 (Unit-1)

(F) O SATENTIIA ST

EGINIESREUUIED L
F: shon fAfeent i
AT TSe I : ||
(@) B T g6 W

BRI AE Hiee|



TR1 4.

9RA 5.

TR1 6.

SRR Yaka fagM
Tt gaior garesTH
rfafd-2 (Unit-2)

(%) OSEHd qEY HeTN-
TicEET 99 9wl
e fafganfa gagufa

T g famdsaAr

(@) g guul wgs1 q@r
9 g TRl
T Tt wrg-
T ARl
v IUfTEg % ATER fafay swr &1 fewo swifew)

Describe the Trividha Brahma according to Svetagvatara Upanisad.

3TUET/OR
frafafad o 9 f=l @ w ool fafeg -

Write notes on any two of the following:

Frfafy, aRAS, arcEvifed, Wel & 3UE

frafafed & 9 fF<l 2 &1 w=viafed =men i

Explain any two of the following with reference to the context:

(%) I5= Tde yHareaer gfaasshan]
(@) YA |

() eve fade e

(&) 73 qIHuTw aF fafire faue)

HefeUE & TIER sfmr-fafu &1 freuo s
Describe Adhikar-Vidhi according to Arthasangraha.
AYAT/OR

frafafed 4 9 fF=l Tt R Gfra feoft fafaw .

Write short notes on any two of the following:

(%) wENEY (@) s wE
(m) faf=mfafy (&) g
(&) W&

T%x2=15
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